Chapter 17

Discussion Questions

	17-1.
	Why has corporate management become increasingly sensitive to the desires of large institutional investors?

Corporate management has become increasingly sensitive to the desires of large institutional investors because they fear these shareholders may side with corporate raiders in voting their shares in mergers or takeovers attempt.



	
	

	17-2.
	Why might a corporation use a special category such as founders' stock in issuing common stock?

Founders' stock may carry special voting rights that allow the original founders to maintain voting privileges in excess of their proportionate ownership.



	
	

	17-3.
	What is the purpose of cumulative voting? Are there any disadvantages to management?

The purpose of cumulative voting is to allow some minority representation on the board of directors. A possible disadvantage to management is that minority stockholders can challenge their actions.



	
	

	17-4.
	How does the preemptive right protect stockholders from dilution?

The preemptive right provides current stockholders with a first option to buy new shares. In this fashion, their voting right and claim to earnings cannot be diluted without their consent.



	
	

	17-5.
	If common stockholders are the owners of the company, why do they have the last claim on assets and a residual claim on income?

The actual owners have the last claim to any and all funds that remain. If the firm is profitable, this could represent a substantial amount. Thus, the residual claim may represent a privilege as well as a potential drawback. Generally, other providers of capital may only receive a fixed amount.




	17-6.
	During a rights offering, the underlying stock is said to sell "rights-on" and "ex-rights." Explain the meaning of these terms and their significance to current stockholders and potential stockholders.

When a rights offering is announced, a stock initially trades rights-on, that is, if you buy the stock you will also acquire a right toward future purchase of stock.

After a certain period of time (say four weeks), the stock goes ex-rights; thus when you buy the stock you no longer get a right toward future purchase of stock.

The significance to current and future stockholders is that they must decide if they wish to use or sell the right when the stock is trading rights-on. The stock will go down by the appropriate value of the right when the stock moves to an ex-rights designation.



	
	

	17-7.
	Why might management use a poison pill strategy?

A poison pill may help management defend itself against a potential takeover attempt. When another company attempts to acquire the firm, the poison pill allows current stockholders to acquire additional shares at a very low price. This increases the shares outstanding and makes it more difficult for the potential acquiring company to successfully complete the merger.



	
	

	17-8.
	Preferred stock is often referred to as a hybrid security. What is meant by this term as applied to preferred stock?

Preferred stock is a "hybrid" or intermediate form of security possessing some of the characteristics of debt and common stock. The fixed amount provision is similar to debt, but the noncontractual obligation is similar to common stock. Though the preferred stockholder does not have a ownership interest in the firm, the priority of claim is higher than that of the common stockholder.



	
	

	17-9.
	What is the most likely explanation for the use of preferred stock from a corporate viewpoint?

Most corporations that issue preferred stock do so to achieve a balance in their capital structure. It is a means of expanding the capital base of the firm without diluting the common stock ownership position or incurring contractual debt obligations.



	
	

	17-10.
	Why is the cumulative feature of preferred stock particularly important to preferred stockholders?

With the cumulative feature, if preferred stock dividends are not paid in any one year, they accumulate and must be paid in total before common stockholders can receive dividends. Even though preferred stock dividends are not a contractual obligation as is true of interest on debt, the cumulative feature tends to make corporations very aware of obligations to preferred stockholders. Preferred stockholders may even receive new securities for forgiveness of missed dividend payments.



	
	

	17-11.
	A small amount of preferred stock is participating. What would your reaction be if someone said common stock is also participating?

The participation privileges of a few preferred stock issues mean that preferred stockholders may receive a payout over and above the quoted rate when the corporation enjoys a particularly good year. This is very similar to the situation with common stock and one can certainly say that common stock is a participation-type security.



	
	

	17-12.
	What is an advantage of floating rate preferred stock for the risk-averse investor?

There is less price volatility than with regular preferred stock.



	
	


	17-13.
	Put an X by the security that has the feature best related to the following considerations. You may wish to refer to Table 17-3 on page ___.



Common Stock
 Preferred Stock  Bonds

a.
Ownership and control of the firm

b.
Obligation to provide return

c.
Claims to assets in bankruptcy

d.
High cost of distribution

e.
Highest return

f.
Highest risk

g.
Tax-deductible payment

h.
Payment partially tax-exempt

to corporate recipient



	
	
	Common Stock
	Preferred Stock
	Bonds

	
	a.
Owners and control of the firm
	X
	
	

	
	b.
Obligation to provide return
	
	
	X

	
	c.
Claims to assets in bankruptcy

	
	X
	

	
	d.
Highest cost of distribution
	X
	
	

	
	e.
Highest return
	X
	
	

	
	f.
Highest risk
	X
	
	

	
	g.
Tax deductible payment
	
	X
	

	
	h.
Payment partially tax exempt to corp. viewpoint
	X
	X
	


Problems
	17-1.
	Folic Acid, Inc. has $20 million in earnings, pays $2.75 million in interest to bondholders, and $1.80 million in dividends to preferred stockholders.

a.
What are the common stockholders’ residual claims to earnings?

b.
What are the common stockholders’ legal, enforceable claims to dividends?



	Solution:
Folic Acid, Inc.


(in millions)
a.
Earnings
$20.00


–Interest
2.75


–Preferred stock dividends
    1.80

Common stockholders residual claim to earnings
$15.45

b.
None. The common stockholders have no legal, enforceable claim to dividends. The corporation may choose to pay dividends, but it is not a legal obligation.



	
	


	17-2.
	Mr. Meyers wishes to know how many shares are necessary to elect 5 directors out of the 14 directors up for election in the Austin Power Company. There are 150,000 shares outstanding. (Use formula 17-1 to determine the answer.)



	Solution:

Austin Power Company



	Shares
required
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	17-3.
	Carl Hubbell owns 6,001 shares of the Piston Corp. There are 12 seats on the company board of directors, and the company has a total of 78,000 shares outstanding. The Piston Corp. utilizes cumulative voting.

Can Mr. Hubbell elect himself to the board when the vote to elect 12 directors is held next week? (Use Formula 17-2 to determine if he can elect one director.)



	Solution:

Piston Corporation



	Number of directors that can be elected
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	Yes, Mr. Hubbell can elect himself to the board.

	
	

	17-4.
	Anita Job owns 507 shares in the Rapid Employment Corp. (a firm that provides temporary work). There are 11 directors to be elected. Twenty-one thousand shares are outstanding. The firm has adopted cumulative voting.

a.
How many total votes can be cast?

b.
How many votes does Anita Job control?

c.
What percentage of the total votes does she control?



	Solution:

Rapid Employment Corp.

Votes
=
Number of shares x number of directors to be elected

a.
21,000 x 11 
= 231,000 votes

b.
507 x 11 
= 5,577 votes

c.
5,577/231,000 
= 2.41%



	
	

	17-5.
	Boston Fishery has been experiencing declining earnings, but has just announced a 50 percent salary increase for its top executives. A dissident group of stockholders wants to oust the existing board of directors. There are currently 11 directors and 60,000 shares of stock outstanding. Mr. Bass, the president of the company, has the full support of the existing board. The dissident stockholders control proxies for 20,001 shares. Mr. Bass is worried about losing his job.

a.
Under cumulative voting procedures, how many directors can the dissident stockholders elect with the proxies they now hold? How many directors could they elect under majority rule with these proxies?

b.
How many shares (or proxies) are needed to elect six directors under cumulative voting?




17-5.  Continued

	Solution:

Boston Fishery



	a.
Number of directors that can be elected
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	Four directors can be elected by the dissident stockholders under cumulative voting.

None would be elected by the dissidents under majority rule because the existing board controls over 50 percent of the shares.



	b.
Shares required
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	17-6.
	Galaxy Corporation is holding a stockholders' meeting next month. Mr. Starr is the president of the company and has the support of the existing board of directors. All nine members of the board are up for reelection. Art Levine is a dissident stockholder. He controls proxies for 30,001 shares. Mr. Starr and his friends on the board control 50,001 shares. Other stockholders, whose loyalties are unknown, will be voting the remaining 19,998 shares. The company uses cumulative voting.

a.
How many directors can Mr. Levine be sure of electing?

b.
How many directors can Mr. Starr and his friends be sure of electing?

c.
How many directors could Mr. Levine elect if he obtains all the proxies for the uncommitted votes? (Uneven values must be rounded down to the nearest whole number regardless of the amount.) 



	Solution:

Galaxy Corporation



	a.
Number of directors that can be elected
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Mr. Levine can be assured of electing 3 directors.



	b.
	
[image: image8.wmf]directors

  

5

000

,

100

000

,

500

000

,

100

10

000

,

50

000

,

100

)

1

9

(

)

1

001

,

50

(

=

=

´

=

+

´

-




	
Mr. Starr and his friends can be assured of electing 5 directors.


17-6.  Continued

	c.
If Mr. Starr’s group can elect 5 of 9 directors, Mr. Levine could elect 4 if he controlled all the other votes.

OR
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	17-7.
	In problem 6, if 12 directors were to be elected, and Mr. Starr and his friends had 50,001 shares and Mr. Levine had 30,001 shares plus half the uncommitted votes, how many directors could Mr. Levine elect?



	Solution:

Galaxy Corporation (Continued)
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	17-8.
	Mr. Frost controls proxies for 32,000 of the 60,000 outstanding shares of Express Frozen Foods, Inc. Mr. Cooke heads a dissident group that controls the remaining 28,000 shares. There are seven board members to be elected and cumulative voting rules apply. Frost does not understand cumulative voting and plans to cast 80,000 of his 224,000 (32,000 x 7) votes for his brother-in-law, Jack. His remaining votes will be spread evenly for three other candidates.

How many directors can Mr. Cooke elect is Mr. Frost acts as described above? Use logical numerical analysis rather than a set formula to answer the question. Cooke has 196,000 votes (28,000 x 7).



	Solution:

Express Frozen Foods, Inc.

Mr. Frost controls 224,000 votes (32,000 shares x 7 directors).

Mr. Cooke controls 196,000 votes (28,000 shares x 7 directors).

If Mr. Frost casts 80,000 votes for his brother-in-law, Jack, this will leave 48,000 votes (144,000/3) for each of the other three candidates that he favors.



	Mr. Cooke could elect 4 of 7 directors with less than one half of the votes because of Mr. Frost’s error in voting.

This is true because Mr. Cooke could cast 49,000 votes for each of the four directors of his choice (196,000/4 = 49,000).



	
	


	17-9.
	Higgins Metal Company was established in 1980. Four years later the company went public. At that time, Henry Higgins, the original owner, decided to establish two classes of stock. The first represents Class A founders' stock and is entitled to 10 votes per share. The normally traded common stock, designated as Class B, is entitled to one vote per share. In late 1999, Mr. Andrews was considering purchasing shares in Higgins Metal Company. While he knew the existence of founders' shares were not prevalent in many companies, he decided to buy the shares anyway because of a new high-technology melting process the company had developed.

Of the 1.4 million total shares currently outstanding, the original founder's family owns 52,525 shares. What is the percentage of the founder's family votes to Class B votes?



	Solution:

Higgins Metal Company

Founder's family votes
=
Shares owned x 10


=
52,525 x 10


=
525,250

Class B votes
=
Total shares – founder's family shares


=
1,400,000 – 52,525 = 1,347,475


[image: image11.wmf]%

98

.

38

457

,

347

,

1

250

,

525

Votes

 

B

 

Class

Votes

Family 

 

s

Founder'

=

=




	
	


	17-10.
	Jane Boles Bottling Co. has issued rights to its shareholders. The subscription price is $45 and four rights are needed along with the subscription price to buy one of the new shares. The stock is selling for $55 rights-on.

a.
What would be the value of one right?

b.
If the stock goes ex-rights, what would the new stock price be?



	Solution:

Jane Boles Bottling Co.
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b.
$55.00 – $2.00 = $53.00


The stock price will decrease by the amount of the right's value.



	
	

	17-11.
	Harmon Candy Co. has announced a rights offering for its shareholders. Cindy Barr owns 500 shares of Harmon Candy Co. stock. Five rights plus $62 cash are needed to buy one of the new shares. The stock is currently selling for $70 rights-on.

a.
What is the value of a right?

b.
How many of the new shares could Cindy buy if she exercised all her rights? How much cash would this require?

c.
Cindy doesn’t know if she wants to exercise her rights or sell them. What alternative would have the most beneficial effect on her wealth?




17-11.  Continued

	Solution:

Harmon Candy Company
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	b.
Cindy owns 500 shares so she would receive 500 rights. 


500 rights/5 rights per share = 100 shares


100 shares x $62 subscription price = $6,200 cash needed

c.
Neither exercising the rights nor selling them would have any effect on the stockholder's wealth (all things being equal).



	
	

	17-12.
	Carl Martin has $9,000 to invest. He has been looking at Barton Petroleum common stock. Barton has issued a rights offering to its common stockholders. Six rights plus $51 cash will buy one new share. Barton’s stock is selling for $60 ex-rights.

a.
How many rights could Carl buy with his $9,000? Alternatively, how many shares of stock could he buy with the same $9,000 at $60 per share?

b.
If Carl invests his $9,000 in Barton rights and the price of Barton stock rises to $72 per share ex-rights, what would his dollar profit on the rights be? (First compute profits per right.)

c.
If Carl invests his $9,000 in Barton stock and the price of the stock rises to $72 per share ex-rights, what would his total dollar profit be?

d.
What would the answer to part b if the price of Barton’s stock falls to $45 per share ex-rights instead of rising to $72?
e.
What would be the answer to part c if the price of Barton’s stock falls to $45 per share ex-rights?




17-12.  Continued

	Solution:

Barton Petroleum

(Carl Martin)
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$9,000 investment/$1.50 per right 
=
6,000 rights


$9,000 investment/$60 per share 
=
150 shares

b.
($72 – $51)/6
=
$3.50 per right value


$3.50 per right value – $1.50
=
$2.00 profit per rights


$2.00 x 6,000 rights
=
$12,000 total profit on rights

c.
($72 – $60)
=
$12 profit per share


$12 x 150 shares
=
$1,800 total dollar profit on the stock

d.
($45 – $51)/6
=
–$1.00; the right's value = 0


Tom would lose his entire $9,000 investment.

e.
($45 – $60)
=
$15 loss per share


–$15 x $150
=
–$2,250


Tom would lose $2,250 on his $9,000 investment.



	
	


	17-13.
	Mr. And Mrs. Anderson own five shares of Magic Tricks Corporation common stock. The market value of the stock is $60. The Andersons also have $48 in cash. They have just received word of a rights offering. One new share of stock can be purchased at $48 for each five shares currently owned (based on five rights).

a.
What is the value of a right?

b.
What is the value of the Andersons' portfolio before the rights offering? (Portfolio in this question represents stock plus cash.)

c.
If the Andersons participate in the rights offering, what will be the value of their portfolio, based on the diluted value (ex-rights) of the stock?

d.
If they sell their five rights but keep their stock at its diluted value and hold on to their cash, what will be the value of their portfolio?



	Solution:

Magic Tricks Corp.

(The Andersons)
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b.
Portfolio value


Stock
5 x $60      =   $300


Cash


         48


Total Portfolio Value  $348

c.
First compute diluted value:


Diluted value    =    Market value ex-rights



Me = Mo – R = $60 – $2 = $58





or




17-13.  Continued

	
5 old shares sold at $60 per share
$300


1 new share will sell at $48
    48

Total value of 6 shares
$348


Average value of 1 share (Market value ex-rights) = $58


Portfolio value


Stock
6 x $58  = 
$348


Cash

      0

Total portfolio value
$348

d.
Portfolio Value


Stock
5 x $58  =
$290


Proceeds from sale of 5 rights (5 x $2)
    10


Cash =

    48

Total portfolio value
$348



	
	


	17-14.
	Kristy Fashions, Inc., has 4.5 million shares of common stock outstanding. The current market price of Kristy Fashions common stock is $60 per share rights-on. The company's net income this year is $18 million. A rights offering has been announced in which 450,000 new shares will be sold at $55 per share. The subscription price of $55 plus 10 rights is needed to buy one of the new shares.

a.
What are the earnings per share and price-earnings ratio before the new shares are sold via the rights offering?

b.
What would the earnings per share be immediately after the rights offering? What would the price-earnings ratio be immediately after the rights offering? (Assume there is no change in the market value of the common stock, except for the change when the stock begins trading ex-rights.) Round all answers to two places after the decimal point.



	The Kristy Fashions, Inc.
a.
$18 million earnings/4.5 million shares = 
$4.00 earnings per share


$60 market price/$4.00 earnings per share = 
15 price-earnings ratio

b.
4.5 million original shares + 450,000 new shares = 4,950,000 shares


$18 million earnings/4,950,000 shares = $3.64 earnings per share
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$60 per share – $.45 = $59.55


$59.55 market price per share/$3.64 earnings per share = 16.36 price-earnings ratio



	
	


	17-15.
	The Shelton Corporation has some excess cash that it would like to invest in marketable securities for a long-term hold. Its vice president of finance is considering three investments (Shelton Corporation is in a 35 percent tax bracket and the tax rate on dividends is 15 percent). Which one should he select based on aftertax return: (a) Treasury bonds at a 7 percent yield; (b) corporate bonds at a 10 percent yield; or (c) preferred stock at an 8 percent yield?



	Solution:

Shelton Corporation



	a.
Treasury bonds 7% x (1 – .35) = 7% x .65 = 4.55%

b.
Corporate bonds 10% x (1 – .35) = 10% x .65 = 6.50%

c.
Preferred stock 70% of the dividend is excluded from corporate taxes so only 30% is taxable. The tax rate on dividends is 15 percent. We subtract the taxes from the yield.

8% – (8% x .30) (.15)
8% – (2.4%) (.15)
8% – .36% = 7.64%



	
	


	17-16.
	Silicon Industries has a cumulative preferred stock issue outstanding, which has a stated annual dividend of $8 per share. The company has been losing money and has not paid the preferred dividends for the last four years. There are 260,000 shares of preferred stock outstanding and 500,000 shares of common stock.

a.
How much is the company behind in preferred dividends?

b.
If Silicon Industries earns $7.5 million in the coming year after taxes and before dividends, and this is all paid out to the preferred stockholders, how much will the company be in arrears (behind in payments)? Keep in mind that the coming year would represent the fifth year.

c.
How much, if any, would be available in common stock dividends in the coming year if $7.5 million is earned as explained in part b?



	Solution:

Silicon Industries



	a.
$8 per share x 260,000 shares x 4 years = $8,320,000 dividends in arrears.

b.
$8 per share x 260,000 shares x 5 years = $10,400,000


Minus profits of 




–  7,500,000

Dividends still in arrears



$  2,900,000
c.
No common stock dividends can be paid until all the preferred dividends are paid to the cumulative preferred stockholders.



	
	


	17-17.
	Industrial Gas Company is four years in arrears on cumulative preferred stock dividends. There are 650,000 preferred shares outstanding, and the annual dividend is $7 per share. The vice president of finance sees no real hope of paying the dividends in arrears. He is devising a plan to compensate the preferred stockholders for 90 percent of the dividends in arrears.

a.
How much should the compensation be?

b.
Industrial Gas Company will compensate the preferred stockholders in the form of bonds paying 12 percent interest in a market environment in which the going rate of interest is 14 percent. The bonds will have a 25-year maturity. Using the bond valuation table in Chapter 16 (Table 16-3), indicate the market value of a $1,000 par value bond.

c.
Based on market value, how many bonds must be issued to provide the compensation determined in part a? (Round to the nearest whole number.)



	Solution:

Industrial Gas Company

a.
$7 per share x 650,000 shares x 4 years =

$18,200,000 dividends in arrears.


$18,200,000 x 90% = $16,380,000 compensation

b.
$862.06

c.
Compensation
$16,380,000


Bond value
       $862.06


Number of bonds to

provide compensation
         19,001



	
	


	17-18.
	The treasurer of Garcia Mexican Restaurants (a corporation) currently has $100,000 invested in preferred stock yielding 7.5 percent. He appreciates the tax advantages of preferred stock and is considering buying $100,000 more with borrowed funds. The cost of the borrowed funds is 9.5 percent. He suggests this proposal to his board of directors. They are somewhat concerned by the fact that the treasurer is paying 2 percent more for funds than will be earned. The firm is in a 34 percent tax bracket.

a.
Compute the amount of the aftertax income from the additional preferred stock if it is purchased.

b.
Compute the aftertax borrowing cost to purchase the additional preferred stock. That is, multiply the interest cost times (1 – T).

c.
Should the treasurer proceed with his proposal?

d.
If interest rates and dividend yields in the market go up six months after a decision to purchase is made, what impact will this have on the outcome?




17-18.  Continued

	Solution:

Garcia Mexican Restaurants



	a.
Preferred Stock

  $100,000


Dividend yield
       7.5%


Dividend
$    7,500


Taxable income (30%)
      2,250


Tax rate (15%)
    337.50


Aftertax income
$7,162.50 ($7,500 – $337.50)

b.
Loan

$100,000


Interest expense

       9.5%

Interest

$    9,500


x (1 – T)

        66%

Aftertax borrowing cost

$    6,270

c.
Yes, the aftertax income exceeds the aftertax borrowing cost. Of course, other factors may be considered as well.

d.
The outcome could become quite unfavorable for two reasons. The increase in dividend yield would lower the value of the $100,000 portfolio. Also, interest rates generally are not fixed on a loan of this nature. Thus, the borrowing cost could go up.


Note the dangers of these problems could be overcome by buying floating rate preferred stock. The market value of the portfolio would be fixed, and preferred stock yields and interest rates would, in all likelihood, move up and down together.



	
	


	17-19.
	Referring back to the original information in problem 18, if the yield on the $100,000 of preferred stock is still 7.5 percent and the borrowing cost remains at 9.5 percent, but the tax rate is only 20 percent, is this a feasible investment?



	Solution:

Garcia Mexican Restaurants (Continued)


Dividend

$     7,500


Taxable income (30%)

       2,250


Tax rate (15%)

     337.50


Aftertax income

$7,162.50 ($7,500 – $337.50)


Interest

$     9,500


x (1 – T)

       80 %

Aftertax borrowing cost
$    7,600


No, the aftertax income is now less than the aftertax borrowing cost.



	
	


	17-20.
	Hailey Transmission has two classes of preferred stock: floating rate preferred stock and straight (normal) preferred stock. Both issues have a par value of $100. The floating rate preferred stock pays an annual dividend yield of 7 percent, and the straight preferred stock pays 8 percent. Since the issuance of the two securities, interest rates have gone up by 3 percent for each issue. Both securities will pay their year-end dividend today.

a.
What is the price of the floating rate preferred stock likely to be?

b.
What is the price of the straight preferred stock likely to be? Refer back to Chapter 10 and use Formula 10-4 to answer this question.



	Solution:

Hailey Transmissions

a.
The floating rate preferred stock should be trading at very close to the par value of $100 since interest rates will adjust to current market conditions rather than price.

b.
Based on formula 10-4, the price of straight preferred stock will be:
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Comprehensive Problems

	CP 17-1.
	The Crandall Corporation currently has 100,000 shares outstanding that are selling at $50 per share. It needs to raise $900,000 in totally new funds for the future. Net income after taxes were $500,000. Its vice president of finance and its investment banker have decided on a rights offering, but are not sure how much to discount the subscription price from the current market value. Discounts of 10 percent, 20 percent, and 40 percent have been suggested. Common stock is the sole means of financing for the Crandall Corporation.

a.
For each discount, determine the subscription price, the number of shares to be issued, and the number of rights required to purchase one share. (Round to one place after the decimal point where necessary.)

b.
Determine the value of one right under each of the plans. (Round to two places after the decimal point.)

c.
Compute the earnings per share before and immediately after the rights offering under a 10 percent discount from the subscription price.

d.
By what percentage has the number of shares outstanding increased?

e.
Stockholder X has 100 shares before the rights offering and participated by buying 20 new shares. Compute his total claim to earnings both before and after the rights offering (that is, multiply shares by the earnings per share figures computed in part c).

f.
Should Stockholder X be satisfied with this claim over a longer period of time?



	Solution:

Rights Offering and the
Impact on Shareholders

Crandall Corp.

a.
10% discount-subscription price equals $45.



	Number of new shares
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CP 17-1.  Continued

	
20% discount-subscription price equals $40


	Number of
new shares
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40% discount-subscription price equals $30



	Number of new shares
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CP 17-1.  Continued

	c.
EPS before rights offering
= net income/old shares



$500,000/100,000
= $5.00


EPS after rights offering
= net income/(old + new shares)



$500,000/120,000
= $4.17

d.
20% increase in shares outstanding (100,000 to 120,000)



	e.
Before
100 shares x $5.00 = $500


After
120 shares x $4.17 = $500 (rounded)

f.
No, he would expect greater earnings. He and others have put additional capital into the corporation so total claims to earnings should improve. Invested capital has increased from $5,000,000 to $5,900,000. He earned $500 before he put $900 more (20 shs. x $45) of additional funds in the corporation. Over time, earnings should increase.



	
	

	CP 17-2.
	Dr. Paige Webb founded Portable Laptop, Inc., (PLI) in 1989. The principal purpose of the firm was to engage in research and development of laptop computers. Although the firm did not show a profit until 1995, by 1999 it reported aftertax earnings of $2.4 million. 
The company went public in 1993 at $20 a share. Investors were initially interested in buying the stock because of its future prospects. By year-end 1999, the stock was trading at $82 per share because the firm had made good on its promise to produce highly efficient laptop computers and, in the process, was making reasonable earnings. With 1.7 million shares outstanding, earnings per share were $1.41.

Dr. Webb and the members of the board of directors were initially pleased when another firm, Rom Scientific Computers Inc., began buying their stock. John Rom, the chairman and CEO of Rom Scientific Computers, was thought to be a shrewd investor and his company's purchase of 100,000 shares of PLI was taken as an affirmation of the success of the firm.


CP 17-2.  Continued

	
	However, when Rom bought another 100,000 shares, Dr. Webb and members of the board of directors of PLI became concerned that John Rom and his firm might be trying to take over PLI. Upon talking to his attorney, Dr. Webb was reminded that PLI had a poison pill provision that would take effect when any outside investor accumulated 25 percent or more of the shares outstanding. Current stockholders, excluding the potential takeover company, were given the privilege of buying up to 1,100,000 shares of PLI at 80 percent of current market value. Thus, new shares would be restricted to friendly interests.

The attorney also found that Dr. Webb and "friendly" members of the board of directors currently owned 350,000 shares of PLI.

a.
How many more shares would Rom Scientific Computers need to purchase before the poison pill provision would go into effect? Given the current price of $82 for PLI stock, what would be the cost to Rom to get up to that level?

b.
PLI's ultimate fear is that Rom Scientific Computers would gain over a 50 percent interest in PLI's outstanding shares. What would be the additional cost to Rom to get to 50 percent (plus 1 share) of the stock outstanding of PLI at the current market price of PLI’s stock. In answering this question, assume Rom had previously accumulated the 25 percent position discussed in part a.



	
	c.
Now assume that Rom exceeds the number of shares you computed in part b and accumulates up to 1,250,000 shares of PLI. Under the poison pill provision, how many shares must "friendly" shareholders purchase to thwart a takeover attempt by Rom? What will be the total cost? Keep in mind that friendly interests already own 355,000 shares of PLI and to maintain control, they must own one more share than Rom.

d.
Would you say the poison pill is an effective deterrent in this case? Is the poison pill in the best interest of the general stockholders (those not associated with the company)?




CP 17-2.  Continued

	Solution:

Poison Pill Strategy

Portable Laptop, Inc.

a.
If Rom owns 25 percent of the shares outstanding of PLI, the poison pill will go into effect.


Since there are 1,700,000 shares outstanding, the trigger point is at 425,000 shares. This means Rom would have to buy 225,000 additional shares to go with its current ownership of 200,000.


The cost of 225,000 additional shares of PLI common stock at its current price of $82 per share would be $18,450,000.

b.
To get a 50% + 1 share interest in PLI, Rom would need to own 850,000 (1/2 of 1,700,000) + 1 share. The number is 850,001.


Since Rom has already acquired 425,000 shares of PLI, it would need to buy 425,501 more shares.



	
At a stock price of $82 per share, this would represent an additional cost of $34,850,082.



425,001
additional shares



             $82
stock price



$34,850,082
additional cost




CP 17-2.  Continued

	c.
One more share than Rom would necessitate an ownership of 1,250,001 shares. Since "friendly" interest to PLI already own 350,000 shares, this would mean they would need to acquire 900,001 additional shares.


Because under the poison pill provision, they can buy at 80% of current market value, the total cost of the 900,001 shares would be $59,040,065.



900,001
additional shares



         $65.60
cost per share*



$59,040,065
total cost


*$82 x 80% (poison pill provision) = $65.60

d.
Yes, the poison pill is an effective deterrent in this case. With 1,700,000 shares outstanding and the "friendly" interests already owning 350,000 shares, the most that Rom could acquire is 1,350,000. Since the poison pill provision allows up to 1,100,000 additional shares to be purchased by "friendly" interests, the "friendly" interests the “friendly” interests are assured of always owning more than 1,350,000 shares. Their total potential is 1,450,000 shares (350,000 shares currently owned plus 1,100,000 under the poison pill plan).



	
Quite likely, the poison pill is not in the best interest of the general shareholders. Without the poison pill, PLI is more likely to be a merger takeover candidate. Often a price is offered well in excess of current market value for a takeover candidate. For example, PLI, with a current price of $82, might be offered over $100 per share in a takeover tender offer. General stockholders would certainly benefit from such an offer.
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